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'LODUDQJ�PHPSHUEDQ\DN�DWDX�PHPLQGDKNDQ�VHEDJLDQ�DWDX�VHOXUXK�

LVL� EXNX� LQL� GDODP� EHQWXN� DSDSXQ� GDQ� GHQJDQ� FDUD� DSDSXQ��

WHUPDVXN�PHPIRWRNRSL��PHUHNDP��DWDX�GHQJDQ�WHNQLN�SHUHNDPDQ�

ODLQQ\D�WDQSD�VHL]LQ�WHUWXOLV�GDUL�SHQHUELW 
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3XML� GDQ� V\XNXU� DWDV� NHKDGLUDW� 7XKDQ� <0(��� NDUHQD� DWDV�

NHNXDWDQ� GDQ� L]LQ�1\D� EXNX� ´&DUD� 3UDNWLV�0HPDKDPL� 8QGDQJ�

8QGDQJ� 3LGDQD� %DUX� GL� ,QGRQHVLDµ� GDSDW� WHUVHOHVDLNDQ�� 6HPRJD�

EXNX� LQL� GDSDW� EHUPDQIDDW� EDJL� SDUD� SHPEDFD� VHNDOLDQ�� VHEDJDL�

EDKDQ�EDFDDQ�JXQD�PHQDPEDK�ZDZDVDQ� 

%XNX��&DUD�3UDNWLV�0HPDKDPL�8QGDQJ�8QGDQJ�3LGDQD�%DUX�

GL�,QGRQHVLD��DGDODK�SDQGXDQ�NRPSUHKHQVLI�\DQJ�GLUDQFDQJ�XQWXN�

PHPEDQWX� PDV\DUDNDW� XPXP�� SUDNWLVL� KXNXP�� DNDGHPLVL�� GDQ�

SHQHJDN� KXNXP� PHPDKDPL� SHUXEDKDQ� VLJQLILNDQ� GDODP� .LWDE�

8QGDQJ�8QGDQJ� +XNXP� 3LGDQD� �.8+3�� \DQJ� EDUX� GLVDKNDQ��

%XNX� LQL� PHPEHULNDQ� SHQMHODVDQ� \DQJ� MHODV� GDQ� ULQFL� WHQWDQJ�

EHUEDJDL� MHQLV� WLQGDN� SLGDQD�� VDQNVL�� GDQ� SURVHGXU� SHQHJDNDQ�

KXNXP� \DQJ� UHOHYDQ�� 'HQJDQ� ODWDU� EHODNDQJ� UHYLVL� .8+3� \DQJ�

GLGRURQJ� ROHK� NHEXWXKDQ� XQWXN� PHPSHUEDUXL� VLVWHP� KXNXP�

SLGDQD��EXNX�LQL�PHQJXUDLNDQ�VHMDUDK�.8+3�ODPD�\DQJ�GLDGRSVL�

GDUL�:HWERHN�YDQ�6WUDIUHFKW��:Y6��%HODQGD�GDQ�DODVDQ�SHQWLQJQ\D�

SHPEDUXDQ�LQL� 

%XNX� LQL�PHQJXUDLNDQ�SHUXEDKDQ�SHUXEDKDQ�XWDPD�GDODP�

.8+3�EDUX�� WHUPDVXN�SHQJDWXUDQ�PHQJHQDL� WLQGDN�SLGDQD�EDUX��

SHPEDUXDQ� VDQNVL�� GDQ� SHQGHNDWDQ� \DQJ� OHELK�PRGHUQ� WHUKDGDS�

NHMDKDWDQ�� VHUWD� EDJDLPDQD� .8+3� EDUX� PHQJDNRPRGDVL�

SHUNHPEDQJDQ�]DPDQ�VHSHUWL�WHNQRORJL�GDQ�JOREDOLVDVL��6HODLQ�LWX��

GLEDKDV� MXJD� SHQHUDSDQ� SHQGHNDWDQ� UHVWRUDWLYH� MXVWLFH� \DQJ�

EHUWXMXDQ�PHPSHUEDLNL�KXEXQJDQ�DQWDUD�SHODNX�GDQ�NRUEDQ�VHUWD�

PHQJXUDQJL� EHEDQ� OHPEDJD� SHPDV\DUDNDWDQ� PHODOXL� SLGDQD�

DOWHUQDWLI�VHSHUWL�NHUMD�VRVLDO�GDQ�PHGLDVL��%DE�EDE�ODLQ�PHPEDKDV�

VHFDUD�ULQFL�WHQWDQJ�SLGDQD�DOWHUQDWLI�VHSHUWL�NHUMD�VRVLDO�GDQ�GHQGD�

DGPLQLVWUDWLI��LQWHJUDVL�SULQVLS�SULQVLS�+DN�$VDVL�0DQXVLD��+$0���

SHQLQJNDWDQ� WUDQVSDUDQVL� GDQ� DNXQWDELOLWDV� GDODP� SURVHV�

SHQHJDNDQ�KXNXP��GDQ�DWXUDQ�EDUX�XQWXN�NHMDKDWDQ�WHNQRORJL�GDQ�

OLQJNXQJDQ�KLGXS� 
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$� 6HMDUDK�+XNXP�3LGDQD�GL�,QGRQHVLD 

6HMDN� PDVD� NRORQLDO�� ,QGRQHVLD� PHQJJXQDNDQ� :HWERHN�

YDQ� 6WUDIUHFKW� �:Y6�� \DQJ� GLSHUNHQDONDQ� ROHK� SHPHULQWDK�

%HODQGD� SDGD� WDKXQ� ������ .8+3� LQL� WHODK� PHQMDGL� ODQGDVDQ�

KXNXP�SLGDQD�VHODPD�OHELK�GDUL�VDWX�DEDG��6HMDN�PDVD�NRORQLDO��

,QGRQHVLD� PHQJJXQDNDQ�:HWERHN� YDQ� 6WUDIUHFKW� �:Y6��� \DQJ�

PHUXSDNDQ� .LWDE� 8QGDQJ�8QGDQJ� +XNXP� 3LGDQD� �.8+3��

SHQLQJJDODQ� SHPHULQWDK� %HODQGD�� :Y6� GLSHUNHQDONDQ� SDGD�

WDKXQ� ������ GHQJDQ� WXMXDQ� XQWXN� PHQJDWXU� EHUEDJDL� WLQGDN�

SLGDQD�GL�+LQGLD�%HODQGD��3HQJDGRSVLDQ�KXNXP�LQL�GLGDVDUNDQ�

SDGD� NHEXWXKDQ� XQWXN� PHQFLSWDNDQ� VLVWHP� KXNXP� \DQJ�

NRQVLVWHQ�GDQ�GDSDW�GLDQGDONDQ�XQWXN�PHQMDJD�NHWHUWLEDQ�GDQ�

NHDPDQDQ� GL�ZLOD\DK� NRORQLDO��:Y6�PHQFHUPLQNDQ� QLODL�QLODL�

KXNXP�GDQ�VRVLDO�\DQJ�EHUODNX�GL�%HODQGD�SDGD�VDDW�LWX��\DQJ�

VHULQJ� NDOL� WLGDN� VHVXDL� GHQJDQ� NRQGLVL� GDQ� NXOWXU� ORNDO�

,QGRQHVLD� 

6HODPD� OHELK� GDUL� VDWX� DEDG�� :Y6� EHUIXQJVL� VHEDJDL�

ODQGDVDQ� XWDPD� KXNXP� SLGDQD� GL� ,QGRQHVLD�� EDKNDQ� VHWHODK�

QHJDUD� LQL� PHUGHND� SDGD� WDKXQ� ������ 3HPHULQWDK� ,QGRQHVLD��

GDODP� XSD\D� PHPEDQJXQ� QHJDUD� \DQJ� EDUX� PHUGHND��

PHPXWXVNDQ� XQWXN� VHPHQWDUD� PHPSHUWDKDQNDQ� :Y6� NDUHQD�

EHOXP� PHPLOLNL� SHUDQJNDW� KXNXP� SLGDQD� QDVLRQDO� \DQJ�

NRPSUHKHQVLI�� .HSXWXVDQ� LQL� MXJD� GLGXNXQJ� ROHK� NHQ\DWDDQ�

EDKZD�:Y6�VXGDK�PDSDQ�GDQ�WHODK�WHUXML�GDODP�SUDNWLN�VHODPD�

EHUWDKXQ�WDKXQ�� 1DPXQ�� PHVNLSXQ�:Y6� FXNXS� HIHNWLI� GDODP�

EHEHUDSD�DVSHN��EDQ\DN�SLKDN�\DQJ�PHQ\DGDUL�EDKZD�KXNXP�

3(1'$+8/8$1�

7(17$1*�.8+3�

%$58 



�� 

 

%$% 

��6(-$5$+�3(5.(0%$1*$1�+8.80�3,'$1$�',�,1'21(6,$ 

 

6HMDUDK�SHUNHPEDQJDQ�KXNXP�SLGDQD�GL�,QGRQHVLD�PHPLOLNL�

SHUMDODQDQ�\DQJ�SDQMDQJ�GDQ�NRPSOHNV��GLPXODL�GDUL�PDVD�NRORQLDO�

%HODQGD� KLQJJD� UHYLVL� WHUEDUX� GDODP� EHEHUDSD� GHNDGH� WHUDNKLU��

%HULNXW�DGDODK�JDPEDUDQ�XPXP�PHQJHQDL�VHMDUDK�WHUVHEXW��EHVHUWD�

UHIHUHQVL�XQWXN�PHPSHUND\D�SHPDKDPDQ� 

 

$� 3HQJHQDODQ�.8+3�ROHK�%HODQGD� 

�� :HWERHN�YDQ�6WUDIUHFKW��:Y6���3DGD�WDKXQ�������SHPHULQWDK�

NRORQLDO� %HODQGD� PHPEHUODNXNDQ� :HWERHN� YDQ� 6WUDIUHFKW�

YRRU� 1HGHUODQGVFK�,QGLs�� \DQJ� GLNHQDO� VHEDJDL� .LWDE�

8QGDQJ�8QGDQJ� +XNXP� 3LGDQD� �.8+3�� +LQGLD� %HODQGD��

3HPEHUODNXDQ� LQL�PHQDQGDL� XSD\D� XQWXN�PHQJDWXU� VLVWHP�

KXNXP�SLGDQD�GL�ZLOD\DK�MDMDKDQ�%HODQGD��\DQJ�PHQFDNXS�

,QGRQHVLD� VDDW� LQL�� .8+3� LQL� PHUXSDNDQ� DGDSWDVL� GDUL�

:HWERHN�YDQ�6WUDIUHFKW�%HODQGD� �:Y6�������� WHWDSL�GHQJDQ�

VHMXPODK�SHQ\HVXDLDQ�XQWXN�PHQJDNRPRGDVL�NRQGLVL�VRVLDO��

EXGD\D��GDQ�SROLWLN�\DQJ�EHUEHGD�GL�ZLOD\DK�+LQGLD�%HODQGD� 

/DWDU�%HODNDQJ�3HPEXDWDQ�.8+3��3DGD�DNKLU�DEDG�NH�

��� GDQ� DZDO� DEDG� NH����� SHPHULQWDK� NRORQLDO� %HODQGD�

PHQJKDGDSL�WDQWDQJDQ�GDODP�PHQJHOROD�ZLOD\DK�MDMDKDQQ\D�

\DQJ� OXDV� GDQ� EHUDJDP�� 3HPEXDWDQ� .8+3� \DQJ� VHUDJDP�

GLDQJJDS� SHQWLQJ� XQWXN� PHQFLSWDNDQ� NHWHUWLEDQ� GDQ�

NHDPDQDQ�GL�+LQGLD�%HODQGD��:HWERHN�YDQ�6WUDIUHFKW��:Y6��

%HODQGD� \DQJ� GLEHUODNXNDQ� GL� %HODQGD� VHMDN� ����� PHQMDGL�

PRGHO� XWDPD�� 1DPXQ�� SHPHULQWDK� NRORQLDO� PHQ\DGDUL�

6(-$5$+�

3(5.(0%$1*$1�+8.80�

3,'$1$�',�,1'21(6,$ 
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.LWDE� 8QGDQJ�8QGDQJ� +XNXP� 3LGDQD� �.8+3�� EDUX�

,QGRQHVLD� \DQJ� GLVDKNDQ� SDGD� WDKXQ� ����� GLRUJDQLVLU� GHQJDQ�

VWUXNWXU�\DQJ�OHELK�PRGHUQ�GDQ�NRPSUHKHQVLI��PHQFDNXS�EHUEDJDL�

EDJLDQ� XWDPD� \DQJ� PHQJDWXU� EHUEDJDL� DVSHN� KXNXP� SLGDQD��

6WUXNWXU� .8+3� EDUX� LQL� PHQFHUPLQNDQ� XSD\D� XQWXN�

PHQ\HODUDVNDQ�KXNXP�SLGDQD�GHQJDQ�SHUNHPEDQJDQ�]DPDQ�VHUWD�

SULQVLS�SULQVLS�NHDGLODQ�GDQ�KDN�DVDVL�PDQXVLD� 

$� %DE�3HPEXNDDQ 

%DE� SHPEXNDDQ� .8+3� EDUX� PHPEHULNDQ� SHQJDQWDU�

WHQWDQJ�WXMXDQ�GDQ�UXDQJ�OLQJNXS�NLWDE�XQGDQJ�XQGDQJ�LQL��,QL�

WHUPDVXN�SHQJDWXUDQ�PHQJHQDL�SULQVLS�SULQVLS�XPXP�KXNXP�

SLGDQD�� VDQNVL� SLGDQD�� GDQ� SHUOLQGXQJDQ� KDN� DVDVL� PDQXVLD�

GDODP�VLVWHP�SHUDGLODQ�SLGDQD��%DE�3HPEXNDDQ�GDODP�.8+3�

EDUX� ,QGRQHVLD� PHQDQGDL� DZDO� GDUL� VHEXDK� GRNXPHQ� KXNXP�

\DQJ� NRPSOHNV� GDQ� SHQWLQJ�� 6HEDJDL� SHQJDQWDU�� EDE� LQL� WLGDN�

KDQ\D�PHPEHULNDQ�JDPEDUDQ�WHQWDQJ�WXMXDQ�GDQ�FDNXSDQ�.LWDE�

8QGDQJ�8QGDQJ� +XNXP� 3LGDQD�� WHWDSL� MXJD� PHQHWDSNDQ�

ODQGDVDQ�SULQVLSLO� EDJL� VLVWHP�KXNXP�SLGDQD� QHJDUD� WHUVHEXW��

6HEDJDLPDQD� GLNHPXNDNDQ� ROHK� 6LUHJDU� �������� �%DE�

3HPEXNDDQ�.8+3�PHPEHQWXN�NHUDQJND�GDVDU�\DQJ�PHQJDWXU�

SULQVLS�SULQVLS�XPXP�KXNXP�SLGDQD�� WHUPDVXN�SHUOLQGXQJDQ�

KDN�DVDVL�PDQXVLD�GDODP�NRQWHNV�SHUDGLODQ�SLGDQD�� 
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3HPEDKDVDQ� PHQJHQDL� DVDV� OHJDOLWDV� GDQ� SULQVLS�SULQVLS�

KXNXP�SLGDQD�ODLQQ\D�PHUXSDNDQ�KDO�\DQJ�VDQJDW�SHQWLQJ�GDODP�

NRQWHNV�.8+3��$VDV� OHJDOLWDV�� \DQJ� MXJD�GLNHQDO� VHEDJDL� QXOOXP�

FULPHQ��QXOOD�SRHQD�VLQH� OHJH� �WLGDN�DGD� WLQGDN�SLGDQD�� WLGDN�DGD�

KXNXPDQ� WDQSD� XQGDQJ�XQGDQJ��� PHQHJDVNDQ� EDKZD� WLGDN� DGD�

VHVHRUDQJ� \DQJ� GDSDW� GLSLGDQD� NHFXDOL� DWDV� GDVDU� WLQGDN� SLGDQD�

\DQJ� WHODK�GLDWXU�GDODP�XQGDQJ�XQGDQJ�� ,QL�DGDODK�SULQVLS�\DQJ�

PHQGDVDU�GDODP�KXNXP�SLGDQD�\DQJ�PHQMDPLQ�NHSDVWLDQ�KXNXP�

GDQ�PHOLQGXQJL�KDN�DVDVL�LQGLYLGX�GDUL�SHQ\DODKJXQDDQ�NHNXDVDDQ�

ROHK�SHPHULQWDK��/HY��������PHQMHODVNDQ���$VDV�OHJDOLWDV�PHQMDPLQ�

EDKZD� NHSXWXVDQ� SHQJDGLODQ� WLGDN� GDSDW� GLGDVDUNDQ� SDGD�

SHUEXDWDQ� \DQJ� WLGDN� GLDWXU� ROHK� XQGDQJ�XQGDQJ� SDGD� VDDW�

SHUEXDWDQ�LWX�GLODNXNDQ�� 

3HQGDSDW� /HY� ������� WHQWDQJ� DVDV� OHJDOLWDV� PHPEDZD� NLWD�

SDGD�SHPDKDPDQ�\DQJ�OHELK�GDODP�WHQWDQJ�EDJDLPDQD�SULQVLS�LQL�

PHPEHULNDQ� SHUOLQGXQJDQ� WHUKDGDS� KDN� DVDVL� LQGLYLGX� GDQ�

PHQMDPLQ�NHDGLODQ�GDODP�VLVWHP�SHUDGLODQ�SLGDQD��$VDV� OHJDOLWDV��

\DQJ�PHQHJDVNDQ�EDKZD� WLGDN�DGD� WLQGDN�SLGDQD�DWDX�KXNXPDQ�

WDQSD�XQGDQJ�XQGDQJ�\DQJ�PHQJDWXUQ\D��PHQJDNXL�NHSHQWLQJDQ�

\DQJ�NUXVLDO�GDUL�NHSDVWLDQ�KXNXP� 

3HUWDPD�WDPD�� SULQVLS� LQL� PHPEHULNDQ� MDPLQDQ� EDKZD�

LQGLYLGX� PHPLOLNL� NHMHODVDQ� WHQWDQJ� DSD� \DQJ� GLDQJJDS� VHEDJDL�

WLQGDN� SLGDQD� GDQ� NRQVHNXHQVL� KXNXPQ\D�� 'HQJDQ� NDWD� ODLQ��

VHVHRUDQJ� WLGDN� GDSDW� GLKXNXP� DWDV� WLQGDNDQ� \DQJ� WLGDN� VHFDUD�

MHODV�GLDWXU�ROHK�XQGDQJ�XQGDQJ�SDGD�VDDW�SHUEXDWDQ�LWX�GLODNXNDQ��

+DO� LQL� PHPEDQWX� PHQFHJDK� SHQ\DODKJXQDDQ� NHNXDVDDQ� ROHK�

35,16,3�35,16,3�
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'DODP�.8+3�EDUX��WHUGDSDW�EHUDJDP�NDWHJRUL�NHMDKDWDQ�GDQ�

SHODQJJDUDQ�\DQJ�GLDWXU�GHQJDQ�WXMXDQ�XQWXN�PHPEHULNDQ�GDVDU�

KXNXP� \DQJ� NXDW� GDODP� PHQDQJDQL� EHUEDJDL� WLQGDN� SLGDQD��

.DWHJRUL�NDWHJRUL� LQL� PHQFDNXS� EHUEDJDL� DVSHN� NHKLGXSDQ�

PDV\DUDNDW� \DQJ� GLDQJJDS� SHQWLQJ� XQWXN� GLDWXU� VHFDUD� KXNXP��

VHSHUWL� NHMDKDWDQ� WHUKDGDS� NHKLGXSDQ�� NHEHEDVDQ�� KDUWD� EHQGD��

NHVXVLODDQ��GDQ�ODLQ�VHEDJDLQ\D� 

0LVDOQ\D�� NHMDKDWDQ� WHUKDGDS� NHKLGXSDQ� PHQFDNXS�

SHPEXQXKDQ�� SHQJDQLD\DDQ�� GDQ� WLQGDN� SLGDQD� ODLQQ\D� \DQJ�

PHQJDQFDP�DWDX�PHUDPSDV�Q\DZD�VHVHRUDQJ��,QL�PHUXSDNDQ�VDODK�

VDWX� NDWHJRUL� NHMDKDWDQ� \DQJ� PHQGDSDW� SHUKDWLDQ� VHULXV� GDODP�

KXNXP�SLGDQD�NDUHQD�PHOLEDWNDQ�KDN�DVDVL�IXQGDPHQWDO�LQGLYLGX��

\DLWX�KDN�XQWXN�KLGXS� 

.HMDKDWDQ� WHUKDGDS� NHKLGXSDQ�� VHSHUWL� SHPEXQXKDQ� GDQ�

SHQJDQLD\DDQ��PHPDQJ�PHUXSDNDQ�LVX�\DQJ�VDQJDW�VHULXV�GDODP�

KXNXP�SLGDQD�NDUHQD�PHOLEDWNDQ�KDN�DVDVL�IXQGDPHQWDO�LQGLYLGX��

\DLWX�KDN�XQWXN�KLGXS��&RQWRK�NDVXV�\DQJ�GDSDW�GLMDGLNDQ�LOXVWUDVL�

DGDODK�NDVXV�SHPEXQXKDQ�GHQJDQ�PRWLI�SHPEDODVDQ�GHQGDP� 

0LVDONDQ�DGD�VHRUDQJ� LQGLYLGX�\DQJ�PHUDVD� WHODK�GLDQLD\D�

DWDX� GLUXJLNDQ� VHFDUD� SULEDGL� ROHK� VHVHRUDQJ�� 7DQSD�

PHPSHUWLPEDQJNDQ� NRQVHNXHQVL� KXNXP� GDQ� PRUDO�� LQGLYLGX�

WHUVHEXW� PHPXWXVNDQ� XQWXN� PHPEDODV� GHQGDP� GHQJDQ� FDUD�

PHPEXQXK� RUDQJ� \DQJ� GLDQJJDS� VHEDJDL� SHODNX� SHQ\HEDE�

SHQGHULWDDQQ\D��'DODP� VLWXDVL� VHSHUWL� LQL�� WLQGDNDQ�SHPEXQXKDQ�

\DQJ� GLODNXNDQ� WLGDN� KDQ\D� PHODQJJDU� KXNXP�� WHWDSL� MXJD�

PHUDPSDV�KDN�DVDVL�LQGLYLGX�XQWXN�KLGXS� 

.(-$+$7$1�'$1�
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-HQLV� VDQNVL� SLGDQD� \DQJ� GLDWXU�� WHUPDVXN� SLGDQD� SHQMDUD��

GHQGD�� GDQ� ODLQQ\D�� 'DODP� .8+3� EDUX�� WHUGDSDW� EHUDJDP� MHQLV�

VDQNVL� SLGDQD� \DQJ� GLDWXU� XQWXN� PHQDQJJDSL� EHUEDJDL� WLQGDN�

SLGDQD��-HQLV�MHQLV�VDQNVL�LQL�GLUDQFDQJ�XQWXN�PHQFLSWDNDQ�HIHN�MHUD�

EDJL� SHODNX� NHMDKDWDQ�� PHPXOLKNDQ� NHUXJLDQ� \DQJ� GLWLPEXONDQ�

NHSDGD�NRUEDQ�� VHUWD�PHPSURPRVLNDQ�SHPXOLKDQ�GDQ� UHLQWHJUDVL�

VRVLDO�EDJL�SHODNX��%HEHUDSD�MHQLV�VDQNVL�SLGDQD�\DQJ�XPXP�GLDWXU�

GDODP� .8+3� PHOLSXWL� SLGDQD� SHQMDUD�� GHQGD�� NHUMD� VRVLDO�� VHUWD�

SHPEHEDVDQ�EHUV\DUDW� 

3LGDQD� SHQMDUD� PHUXSDNDQ� VDQNVL� \DQJ� SDOLQJ� XPXP�

GLMDWXKNDQ�GDODP�NDVXV�NDVXV�NHMDKDWDQ�\DQJ�VHULXV��,QL�PHOLEDWNDQ�

SHQDKDQDQ�SHODNX�GL�OHPEDJD�SHPDV\DUDNDWDQ�XQWXN�MDQJND�ZDNWX�

WHUWHQWX�� VHVXDL� GHQJDQ� WLQJNDW� NHMDKDWDQ� \DQJ� GLODNXNDQ� GDQ�

SHUWLPEDQJDQ� SHQJDGLODQ�� 3LGDQD� SHQMDUD� WLGDN� KDQ\D� EHUIXQJVL�

VHEDJDL� KXNXPDQ�� WHWDSL� MXJD� VHEDJDL� XSD\D� XQWXN� PHOLQGXQJL�

PDV\DUDNDW�GDUL�SHODNX�NHMDKDWDQ�\DQJ�EHUSRWHQVL�PHPEDKD\DNDQ� 

3LGDQD�SHQMDUD�DGDODK�VDODK�VDWX�EHQWXN�VDQNVL�SLGDQD�\DQJ�

SDOLQJ� XPXP� GLMDWXKNDQ� GDODP� NDVXV�NDVXV� NHMDKDWDQ� \DQJ�

GLDQJJDS� VHULXV� GDODP� KXNXP� SLGDQD�� %HQWXN� LQL� PHOLEDWNDQ�

SHQDKDQDQ� SHODNX� NHMDKDWDQ� GL� OHPEDJD� SHPDV\DUDNDWDQ� DWDX�

SHQMDUD� XQWXN� MDQJND� ZDNWX� WHUWHQWX�� \DQJ� GLWHQWXNDQ� ROHK�

SHQJDGLODQ� EHUGDVDUNDQ� WLQJNDW� NHMDKDWDQ� \DQJ� GLODNXNDQ�� VHUWD�

SHUWLPEDQJDQ� ODLQ� VHSHUWL� NHDGDDQ� SHODNX� GDQ� NHSHQWLQJDQ�

PDV\DUDNDW� 

  

6$1.6,�3,'$1$�'$1�
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$� %DJDLPDQD�+DNLP�0HQHQWXNDQ�+XNXPDQ�\DQJ�6HVXDL�GDODP�

.8+3�%DUX 

'DODP�PHQHQWXNDQ� KXNXPDQ� \DQJ� VHVXDL� GDODP� .LWDE�

8QGDQJ�8QGDQJ� +XNXP� 3LGDQD� �.8+3�� EDUX�� KDNLP�

PHPSHUWLPEDQJNDQ� EHUEDJDL� IDNWRU�� WHUPDVXN� WLQJNDW�

NHSDUDKDQ� NHMDKDWDQ�� NHDGDDQ� LQGLYLGX� SHODNX�� VHUWD� WXMXDQ�

UHKDELOLWDVL� GDQ� SHUOLQGXQJDQ� PDV\DUDNDW�� 3HQGHNDWDQ� LQL�

GLGDVDUNDQ�SDGD�SULQVLS�SULQVLS�KXNXP�SLGDQD�\DQJ�EHUWXMXDQ�

XQWXN�PHQFDSDL�NHDGLODQ�\DQJ�VHLPEDQJ�GDQ�PHPSHUKLWXQJNDQ�

NHSHQWLQJDQ�VHPXD�SLKDN�\DQJ�WHUOLEDW� 

0HQXUXW�+LNPDKDQWR�-XZDQD���������GDODP�PHQHQWXNDQ�

KXNXPDQ�\DQJ�VHVXDL��KDNLP�KDUXV�PHPSHUWLPEDQJNDQ��DVDV�

DVDV�KXNXP�SLGDQD��\DLWX�NHDGLODQ��NHPDQIDDWDQ��NHPDQXVLDDQ��

GDQ� NHSDVWLDQ� KXNXP��� ,QL� EHUDUWL� EDKZD� KXNXPDQ� \DQJ�

GLMDWXKNDQ� KDUXVODK� VHMDODQ� GHQJDQ� SULQVLS�SULQVLS� NHDGLODQ�

\DQJ�PHQMDPLQ�EDKZD�VHWLDS�LQGLYLGX�GLSHUODNXNDQ�VHFDUD�DGLO�

VHVXDL� GHQJDQ� NHMDKDWDQ� \DQJ� PHUHND� ODNXNDQ�� 6HODLQ� LWX��

KXNXPDQ� MXJD� KDUXV� PHPEHULNDQ� PDQIDDW� \DQJ� VHEHVDU�

EHVDUQ\D� EDJL� PDV\DUDNDW� VHFDUD� NHVHOXUXKDQ�� GHQJDQ�

PHPSHUWLPEDQJNDQ� SHUOLQGXQJDQ� WHUKDGDS� NRUEDQ� GDQ�

SHQFHJDKDQ�NHMDKDWDQ�GL�PDVD�GHSDQ� 

/HELK� ODQMXW� PHQXUXW� +LNPDKDQWR� -XZDQD� ��������

SHUWDPD�WDPD��SULQVLS�NHDGLODQ�PHQHNDQNDQ�EDKZD�KXNXPDQ�

KDUXVODK� VHEDQGLQJ� GHQJDQ� NHMDKDWDQ� \DQJ� GLODNXNDQ� ROHK�

LQGLYLGX��$UWLQ\D��SHODNX�\DQJ�PHODNXNDQ�WLQGDN�SLGDQD�\DQJ�

OHELK� VHULXV� KDUXV� PHQHULPD� KXNXPDQ� \DQJ� OHELK� EHUDW��

3(5$1�+$.,0�'$/$0�

3(1-$78+$1�3,'$1$ 
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$� .HWHQWXDQ�GDQ�.RQWURYHUVL�6HSXWDU�+XNXPDQ�0DWL 

'DODP� .8+3� EDUX�� SLGDQD� PDWL� DGDODK� VDODK� VDWX�

KXNXPDQ� \DQJ� PDVLK� GLDWXU�� PHVNLSXQ� WHUGDSDW� NRQWURYHUVL�

\DQJ�PHOLQJNXSLQ\D��.HWHQWXDQ�PHQJHQDL�SLGDQD�PDWL�ELDVDQ\D�

PHOLSXWL� MHQLV�MHQLV� NHMDKDWDQ� \DQJ� GDSDW� GLNHQDL� KXNXPDQ�

WHUVHEXW��SURVHGXU�SHODNVDQDDQ�KXNXPDQ��GDQ�SURVHV� EDQGLQJ�

DWDX�SHQLQMDXDQ�NHPEDOL�DWDV�SXWXVDQ�WHUVHEXW� 

3LGDQD� PDWL� WHWDS� PHQMDGL� VDODK� VDWX� KXNXPDQ� \DQJ�

GLDWXU�� GHQJDQ� NHWHQWXDQ�NHWHQWXDQ� \DQJ�PHQFDNXS� EHUEDJDL�

DVSHN� WHUNDLW� SHODNVDQDDQQ\D�� ,QL� PHQFDNXS� MHQLV�MHQLV�

NHMDKDWDQ� \DQJ� GDSDW� GLNHQDL� SLGDQD� PDWL�� SURVHGXU�

SHODNVDQDDQ� KXNXPDQ�� VHUWD� SURVHV� EDQGLQJ� DWDX� SHQLQMDXDQ�

NHPEDOL�DWDV�SXWXVDQ�WHUVHEXW� 

1DPXQ�� PHVNLSXQ� SLGDQD� PDWL� PDVLK� GLDWXU� GDODP�

.8+3� EDUX�� WHUGDSDW� NRQWURYHUVL� \DQJ� PHOLQJNXSLQ\D��

PHQFDNXS� EHUEDJDL� DVSHN� WHUPDVXN� KDN� DVDVL� PDQXVLD��

NHDGLODQ�� HIHNWLYLWDV� VHEDJDL� GHWHUUHQVL�� GDQ� NHPXQJNLQDQ�

NHVDODKDQ� GDODP� VLVWHP� SHUDGLODQ� SLGDQD�� 6HEDJDL� DNLEDWQ\D��

GHEDW� PHQJHQDL� SLGDQD� PDWL� VHULQJNDOL� PHQMDGL� WRSLN� \DQJ�

VDQJDW�NRQWURYHUVLDO�GDQ�VHQVLWLI�GDODP�PDV\DUDNDW� 

6HEDJDL� UHIHUHQVL�� $PQHVW\� ,QWHUQDWLRQDO�� VHEXDK�

RUJDQLVDVL� KDN� DVDVL� PDQXVLD� \DQJ� DNWLI� GDODP� PHQHQWDQJ�

SLGDQD�PDWL��WHODK�PHQ\XDUDNDQ�NHSULKDWLQDQ�PHUHND�WHUKDGDS�

SHQJJXQDDQ�KXNXPDQ�PDWL�GL�EHUEDJDL�QHJDUD��'DODP�EDQ\DN�

ODSRUDQ�GDQ�SHUQ\DWDDQQ\D��$PQHVW\� ,QWHUQDWLRQDO�PHQ\RURWL�

PDVDODK�PDVDODK�WHUNDLW�SLGDQD�PDWL��WHUPDVXN�ULVLNR�HNVHNXVL�

3,'$1$�0$7,�
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$� 3HQJDWXUDQ�7HQWDQJ�7LQGDN�3LGDQD�.RUXSVL�GDQ�6DQNVLQ\D 

7LQGDN� SLGDQD� NRUXSVL� VHULQJNDOL� PHQMDGL� SHUKDWLDQ�

XWDPD�GDODP�KXNXP�SLGDQD� VXDWX� QHJDUD� NDUHQD�GDPSDNQ\D�

\DQJ� PHUXVDN� SDGD� WDWDQDQ� VRVLDO�� HNRQRPL�� GDQ� SROLWLN��

3HQJDWXUDQ� WHQWDQJ� WLQGDN� SLGDQD� NRUXSVL� GDQ� VDQNVLQ\D�

ELDVDQ\D� PHQFDNXS� EHUEDJDL� DVSHN�� WHUPDVXN� GHILQLVL� WLQGDN�

SLGDQD� NRUXSVL�� XQVXU�XQVXU� \DQJ� GLEXWXKNDQ� XQWXN�

PHPEXNWLNDQ� NDVXV� NRUXSVL�� SURVHGXU� SHQ\HOLGLNDQ� GDQ�

SHQXQWXWDQ�� VHUWD� VDQNVL� \DQJ� GLEHUODNXNDQ� NHSDGD� SHODNX�

NRUXSVL� 

7LQGDN� SLGDQD� NRUXSVL� DGDODK� VDODK� VDWX�PDVDODK� \DQJ�

VHULQJ�PHQMDGL�IRNXV�XWDPD�GDODP�VLVWHP�KXNXP�SLGDQD�VXDWX�

QHJDUD�� 'DPSDN� NRUXSVL� \DQJ� PHUXVDN� WLGDN� KDQ\D� WHUEDWDV�

SDGD�DVSHN�NHXDQJDQ��WHWDSL�MXJD�PHUDPEDK�NH�WDWDQDQ�VRVLDO��

HNRQRPL�� GDQ� SROLWLN� VHFDUD� NHVHOXUXKDQ�� 2OHK� NDUHQD� LWX��

SHQJDWXUDQ� WHQWDQJ� WLQGDN� SLGDQD� NRUXSVL� GDQ� VDQNVLQ\D�

PHUXSDNDQ�EDJLDQ�LQWHJUDO�GDUL�XSD\D�SHPEHUDQWDVDQ�NRUXSVL�

GDQ� SHPXOLKDQ� NHSHUFD\DDQ� PDV\DUDNDW� WHUKDGDS�

SHPHULQWDKDQ�\DQJ�EHUVLK�GDQ�DNXQWDEHO� 

'HILQLVL� WLQGDN� SLGDQD� NRUXSVL� ELDVDQ\D� PHQFDNXS�

EHUEDJDL� EHQWXN� SHULODNX� \DQJ� PHOLEDWNDQ� SHQ\DODKJXQDDQ�

NHNXDVDDQ�DWDX�SRVLVL�GDODP� UDQJND�PHPSHUROHK�NHXQWXQJDQ�

SULEDGL�DWDX�NHORPSRN��GHQJDQ�PHUXJLNDQ�NHSHQWLQJDQ�SXEOLN�

DWDX� QHJDUD�� +DO� LQL� PHQFDNXS� SHQHULPDDQ� DWDX� SHPEHULDQ�

VXDS��SHQ\XDSDQ��PDQLSXODVL�GDODP�SHQJDGDDQ�EDUDQJ�DWDX�MDVD�

7,1'$.�3,'$1$�

.25836, 



��� 

 

%$% 

���7,1'$.�3,'$1$�7(525,60( 

 

$� %DJDLPDQD�.8+3�%DUX�0HQJDWXU�7LQGDN�3LGDQD�7HURULVP 

'DODP�.8+3�EDUX��SHQDQJDQDQ�WLQGDN�SLGDQD�WHURULVPH�

PHQMDGL� IRNXV� XWDPD� VHEDJDL� UHVSRQV� WHUKDGDS� DQFDPDQ�

NHDPDQDQ� PRGHUQ� \DQJ� NRPSOHNV�� .8+3� PHQJDWXU� WLQGDN�

SLGDQD�WHURULVPH�GHQJDQ�PHQJLGHQWLILNDVL�GDQ�PHQGHILQLVLNDQ�

VHFDUD�MHODV�DSD�\DQJ�GLDQJJDS�VHEDJDL�WLQGDNDQ�WHURULVPH�VHUWD�

PHQHWDSNDQ� VDQNVL� \DQJ� WHJDV� EDJL� SDUD� SHODNXQ\D�� 'HILQLVL�

WLQGDN� SLGDQD� WHURULVPH� \DQJ� WHUFDQWXP� GDODP� .8+3�

PHQFDNXS�VHUDQJNDLDQ� WLQGDNDQ�\DQJ�EHUWXMXDQ�PHQLPEXONDQ�

UDVD� WDNXW� DWDX� DQFDPDQ� WHUKDGDS� NHDPDQDQ� PDV\DUDNDW��

QHJDUD��DWDX�SHPHULQWDK� 

.8+3� PHQHWDSNDQ� EDKZD� WLQGDN� SLGDQD� WHURULVPH�

PHQFDNXS�EHUEDJDL�NHJLDWDQ�VHSHUWL�SHQJJXQDDQ�NHNHUDVDQ�DWDX�

DQFDPDQ� NHNHUDVDQ�� SHQFXOLNDQ�� SHQ\DQGHUDDQ�� SHQJHERPDQ��

DWDX� VHUDQJDQ� WHUKDGDS� IDVLOLWDV� XPXP� DWDX� SHPHULQWDKDQ��

6HODLQ�LWX��XSD\D�XQWXN�PHQ\HEDUNDQ�UDVD�WDNXW�PHODOXL�PHGLD�

PDVVD�DWDX�LQWHUQHW�MXJD�GDSDW�GLDQJJDS�VHEDJDL�WLQGDN�SLGDQD�

WHURULVPH� 

'DODP� .8+3�� SHQJDWXUDQ� PHQJHQDL� WLQGDN� SLGDQD�

WHURULVPH� PHQFDNXS� EHUDJDP� NHJLDWDQ� \DQJ� EHUWXMXDQ� XQWXN�

PHQLPEXONDQ� UDVD� WDNXW� DWDX� DQFDPDQ� WHUKDGDS� NHDPDQDQ�

PDV\DUDNDW��QHJDUD��DWDX�SHPHULQWDK��6DODK�VDWX�EHQWXN�WLQGDN�

SLGDQD� WHURULVPH� \DQJ� GLDWXU� DGDODK� SHQJJXQDDQ� NHNHUDVDQ�

DWDX�DQFDPDQ�NHNHUDVDQ�VHEDJDL�VDUDQD�XQWXN�PHQFDSDL�WXMXDQ�

WHUWHQWX� \DQJ� EHUWHQWDQJDQ� GHQJDQ� NHSHQWLQJDQ� XPXP��

7LQGDNDQ� LQL� GDSDW� PHOLSXWL� VHUDQJDQ� ODQJVXQJ� WHUKDGDS�

7,1'$.�3,'$1$�
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$� 5HJXODVL�7HQWDQJ�.HMDKDWDQ�6LEHU�GDQ�6DQNVL�7HUNDLW 

7LQGDN�SLGDQD�GL� ELGDQJ� WHNQRORJL�GDQ� LQIRUPDVL�� \DQJ�

VHULQJ� GLVHEXW� VHEDJDL� NHMDKDWDQ� VLEHU�� WHODK�PHQMDGL�PDVDODK�

\DQJ�VHPDNLQ�PHQGHVDN�GL�HUD�GLJLWDO�VDDW�LQL��8QWXN�PHQDQJDQL�

WDQWDQJDQ�LQL��EDQ\DN�QHJDUD�WHODK�PHQJDGRSVL�UHJXODVL�NKXVXV�

\DQJ� PHQJDWXU� NHMDKDWDQ� VLEHU� GDQ� PHPEHUODNXNDQ� VDQNVL�

WHUNDLW�� 5HIHUHQVL� WHUNDLW� UHJXODVL� WHQWDQJ� NHMDKDWDQ� VLEHU� GDQ�

VDQNVL� WHUNDLW� GDSDW� GLWHPXNDQ� GDODP� XQGDQJ�XQGDQJ� DWDX�

SHUDWXUDQ�\DQJ�GLEXDW�ROHK�SHPHULQWDK�VHWHPSDW� 

.HPDMXDQ� WHNQRORJL� WHODK�PHPEXND�SLQWX�EDJL�EHUEDJDL�

NHMDKDWDQ� EDUX�� PXODL� GDUL� SHQFXULDQ� LGHQWLWDV� GDQ� SHQFXULDQ�

GDWD� KLQJJD� VHUDQJDQ� WHUKDGDS� LQIUDVWUXNWXU� NULWLV� GDQ�

SHQ\HEDUDQ� LQIRUPDVL� SDOVX�� 8QWXN�PHQDQJDQL� WDQWDQJDQ� LQL��

EDQ\DN� QHJDUD� WHODK� PHUHVSRQV� GHQJDQ� PHQJDGRSVL� UHJXODVL�

NKXVXV� \DQJ� PHQJDWXU� NHMDKDWDQ� VLEHU� GDQ� PHPEHUODNXNDQ�

VDQNVL�WHUNDLW� 

'L� ,QGRQHVLD�� UHJXODVL� WHQWDQJ� NHMDKDWDQ� VLEHU� GLDWXU�

GDODP� 8QGDQJ�8QGDQJ� 1RPRU� ��� 7DKXQ� ����� WHQWDQJ�

,QIRUPDVL�GDQ�7UDQVDNVL�(OHNWURQLN��88�,7(���88�,7(�PHQJDWXU�

EHUEDJDL� WLQGDN� SLGDQD� GL� ELGDQJ� WHNQRORJL� GDQ� LQIRUPDVL��

VHSHUWL�SHQLSXDQ�RQOLQH��SHQFXULDQ�GDWD��SHQ\HEDUDQ�LQIRUPDVL�

SDOVX��GDQ�VHUDQJDQ�WHUKDGDS�VLVWHP�NRPSXWHU� 

6HODLQ�LWX��88�,7(�MXJD�PHPEHUODNXNDQ�VDQNVL�\DQJ�WHJDV�

EDJL�SHODNX�NHMDKDWDQ�VLEHU��0LVDOQ\D��3DVDO����$\DW�����88�,7(�

PHQJDWXU�EDKZD�VHWLDS�RUDQJ�GLODUDQJ�PHQ\HEDUNDQ�LQIRUPDVL�

\DQJ� GLWXMXNDQ� XQWXN� PHQLPEXONDQ� UDVD� NHEHQFLDQ� DWDX�

7,1'$.�3,'$1$�',�
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$� $WXUDQ�GDQ�6DQNVL�0HQJHQDL�7LQGDN�3LGDQD�1DUNRWLND 

7LQGDN� SLGDQD� QDUNRWLND� DGDODK� VDODK� VDWX� SHUKDWLDQ�

XWDPD� GDODP� KXNXP� SLGDQD� GL� EDQ\DN� QHJDUD� NDUHQD�

GDPSDNQ\D�\DQJ�PHUXVDN�SDGD�LQGLYLGX�GDQ�PDV\DUDNDW�VHFDUD�

NHVHOXUXKDQ�� 5HJXODVL� GDQ� VDQNVL� WHUNDLW� WLQGDN� SLGDQD�

QDUNRWLND� EHUEHGD�EHGD� GL� VHWLDS� QHJDUD�� WHWDSL� XPXPQ\D�

PHQFDNXS�EHUEDJDL�DVSHN�VHSHUWL�SHQJJXQDDQ��SHQ\HOXQGXSDQ��

SHUGDJDQJDQ��DWDX�SURGXNVL�QDUNRWLND� 

7LQGDN�SLGDQD�QDUNRWLND�PHUXSDNDQ�VDODK�VDWX�LVX�NUXVLDO�

\DQJ� PHQGDSDW� SHUKDWLDQ� XWDPD� GDODP� KXNXP� SLGDQD� GL�

EDQ\DN�QHJDUD��WHUPDVXN�GL�,QGRQHVLD��'DPSDN�\DQJ�PHUXVDN�

GDUL� SHQ\DODKJXQDDQ� QDUNRWLND� WLGDN� KDQ\D� WHUEDWDV� SDGD�

LQGLYLGX� \DQJ� PHQJRQVXPVLQ\D�� WHWDSL� MXJD� PHUDPEDK� NH�

PDV\DUDNDW� VHFDUD� NHVHOXUXKDQ�� 2OHK� NDUHQD� LWX�� UHJXODVL� GDQ�

VDQNVL� WHUNDLW� WLQGDN� SLGDQD� QDUNRWLND� VDQJDW� SHQWLQJ� XQWXN�

PHQDQJDQL�PDVDODK�LQL�VHFDUD�HIHNWLI� 

'L� EHUEDJDL� QHJDUD�� UHJXODVL� PHQJHQDL� WLQGDN� SLGDQD�

QDUNRWLND� EHUEHGD�EHGD� VHVXDL� GHQJDQ� KXNXP� GDQ� NHELMDNDQ�

PDVLQJ�PDVLQJ�� 5HJXODVL� WHUVHEXW� PHQFDNXS� EHUEDJDL� DVSHN��

VHSHUWL� SHQJJXQDDQ�� SHQ\HOXQGXSDQ�� SHUGDJDQJDQ�� GDQ�

SURGXNVL� QDUNRWLND�� %HUEDJDL� NHJLDWDQ� WHUNDLW� QDUNRWLND� LQL�

GLDWXU�VHFDUD�NHWDW�XQWXN�PHOLQGXQJL�PDV\DUDNDW�GDUL�GDPSDN�

QHJDWLI�\DQJ�GLWLPEXONDQQ\D� 

0LVDOQ\D��GL�$PHULND�6HULNDW��UHJXODVL�WHQWDQJ�QDUNRWLND�

GLWHWDSNDQ� GDODP� &RQWUROOHG� 6XEVWDQFHV� $FW� �&6$��� \DQJ�

PHQJNODVLILNDVLNDQ� QDUNRWLND� NH� GDODP� OLPD� NDWHJRUL� DWDX�

7,1'$.�3,'$1$�
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$� .HWHQWXDQ�.KXVXV�7HQWDQJ�3HUOLQGXQJDQ�$QDN�GDQ�+XNXPDQ�

%DJL�3HODQJJDU 

3HUOLQGXQJDQ�DQDN�PHUXSDNDQ�VDODK�VDWX�DVSHN�SHQWLQJ�

GDODP� VLVWHP� KXNXP� GL� EDQ\DN� QHJDUD�� .HWHQWXDQ� NKXVXV�

WHQWDQJ�SHUOLQGXQJDQ�DQDN�VHULQJ�GLDWXU�GDODP�XQGDQJ�XQGDQJ�

DWDX�UHJXODVL�\DQJ�PHQJDWXU�KDN�GDQ�NHZDMLEDQ�WHUNDLW�GHQJDQ�

DQDN�DQDN�� 'L� ,QGRQHVLD�� SHUOLQGXQJDQ� DQDN� GLDWXU� GDODP�

8QGDQJ�8QGDQJ�1RPRU� ���7DKXQ� ����� WHQWDQJ� 3HUOLQGXQJDQ�

$QDN�� 8QGDQJ�XQGDQJ� LQL� PHPEHULNDQ� NHWHQWXDQ� \DQJ�

NRPSUHKHQVLI� WHQWDQJ� KDN�KDN� DQDN�� WHUPDVXN� KDN� DWDV�

SHUOLQGXQJDQ�GDUL� NHNHUDVDQ�� HNVSORLWDVL��GDQ�SHUODNXDQ� \DQJ�

PHUHQGDKNDQ� PDUWDEDW�� 6HODLQ� LWX�� 88� WHUVHEXW� MXJD�

PHQHWDSNDQ� VDQNVL� EDJL� SHODQJJDU� \DQJ�PHODNXNDQ� WLQGDNDQ�

\DQJ�PHUXJLNDQ�DQDN� 

8QGDQJ�8QGDQJ� 1RPRU� ��� 7DKXQ� ����� WHQWDQJ�

3HUOLQGXQJDQ�$QDN�PHUXSDNDQ�ODQGDVDQ�KXNXP�\DQJ�SHQWLQJ�

GDODP� PHPDVWLNDQ� KDN�KDN� DQDN� GLOLQGXQJL� GHQJDQ� EDLN� GL�

,QGRQHVLD��8QGDQJ�XQGDQJ�LQL�PHQHWDSNDQ�VHMXPODK�NHWHQWXDQ�

\DQJ� NRPSUHKHQVLI� XQWXN� PHOLQGXQJL� DQDN� GDUL� EHUEDJDL�

EHQWXN� DQFDPDQ�� WHUPDVXN� NHNHUDVDQ�� HNVSORLWDVL�� GDQ�

SHUODNXDQ� \DQJ� PHUHQGDKNDQ� PDUWDEDW�� 6DODK� VDWX� DVSHN�

SHQWLQJ�GDUL�XQGDQJ�XQGDQJ�LQL�DGDODK�SHQHJDVDQ�WHUKDGDS�KDN�

DQDN� XQWXN� PHQGDSDWNDQ� SHUOLQGXQJDQ� \DQJ� OD\DN� VHVXDL�

GHQJDQ�XVLD�GDQ�NRQGLVLQ\D� 
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$� 3HQJDWXUDQ� 7LQGDN� 3LGDQD� \DQJ� %HUKXEXQJDQ� GHQJDQ�

.HVXVLODDQ 

7LQGDN� SLGDQD� \DQJ� EHUNDLWDQ� GHQJDQ� NHVXVLODDQ�

VHULQJNDOL� PHQMDGL� SHUKDWLDQ� XWDPD� GDODP� VLVWHP� KXNXP�

SLGDQD��NDUHQD�PHOLEDWNDQ� LQWHJULWDV� ILVLN� DWDX�PRUDO� LQGLYLGX�

VHUWD� PHPHQJDUXKL� VWDELOLWDV� VRVLDO�� 'L� ,QGRQHVLD�� SHQJDWXUDQ�

PHQJHQDL�WLQGDN�SLGDQD�\DQJ�WHUNDLW�GHQJDQ�NHVXVLODDQ�GLDWXU�

GDODP� EHUEDJDL� SDVDO� GDODP� .LWDE� 8QGDQJ�8QGDQJ� +XNXP�

3LGDQD��.8+3�� 

7LQGDN� SLGDQD� \DQJ� PHQ\DQJNXW� NHVXVLODDQ� PHPDQJ�

VHULQJ� PHQMDGL� IRNXV� XWDPD� GDODP� KXNXP� SLGDQD�� NDUHQD�

PHPSHUWDKDQNDQ� LQWHJULWDV� ILVLN� GDQ� PRUDO� LQGLYLGX� VHUWD�

PHPHOLKDUD� VWDELOLWDV� VRVLDO� PHUXSDNDQ� KDO� SHQWLQJ� GDODP�

VHEXDK� PDV\DUDNDW� \DQJ� EHUDGDE�� 'L� ,QGRQHVLD�� SHUDWXUDQ�

PHQJHQDL� WLQGDN� SLGDQD� \DQJ� EHUNDLWDQ� GHQJDQ� NHVXVLODDQ�

GLDWXU� GDODP� EHUEDJDL� SDVDO� GL� GDODP� .LWDE� 8QGDQJ�8QGDQJ�

+XNXP�3LGDQD��.8+3�� 

.8+3� PHQHWDSNDQ� EHUEDJDL� DWXUDQ� GDQ� VDQNVL� SLGDQD�

WHUKDGDS� SHODQJJDUDQ� NHVXVLODDQ�� \DQJ� WHUPDVXN� GDODP�

NDWHJRUL� GHOLN�GHOLN� PRUDO�� 6DODK� VDWX� FRQWRK� \DQJ� WHUNHQDO�

DGDODK�SHPHUNRVDDQ��\DQJ�GLDWXU�GDODP�3DVDO�����.8+3��3DVDO�

LQL�PHQHJDVNDQ� ODUDQJDQ� NHUDV� WHUKDGDS� WLQGDNDQ� SHPDNVDDQ�

KXEXQJDQ� VHNVXDO� WHUKDGDS� VHVHRUDQJ� WDQSD�SHUVHWXMXDQ�\DQJ�

VDK�� 3LGDQD� \DQJ� GLMDWXKNDQ� XQWXN� SHODNX� SHPHUNRVDDQ� ELVD�

PHQFDSDL����WDKXQ�SHQMDUD� 

.(-$+$7$1�7(5+$'$3�
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$� 5HJXODVL� 7HQWDQJ�.HMDKDWDQ�(NRQRPL�6HSHUWL� 3HQLSXDQ� GDQ�

3HQFXFLDQ�8DQJ 

5HJXODVL� WHQWDQJ� NHMDKDWDQ� HNRQRPL�� VHSHUWL� SHQLSXDQ�

GDQ� SHQFXFLDQ� XDQJ�� ELDVDQ\D� GLDWXU� GDODP� XQGDQJ�XQGDQJ�

DWDX�SHUDWXUDQ�\DQJ�NKXVXV�PHQJDWDVL�WLQGDN�SLGDQD�WHUVHEXW��

'L� EDQ\DN� QHJDUD�� NHMDKDWDQ� HNRQRPL� PHUXSDNDQ� SHUKDWLDQ�

XWDPD� NDUHQD� GDPSDNQ\D� \DQJ� PHUXJLNDQ� SDGD� VWDELOLWDV�

HNRQRPL� GDQ� NHSHUFD\DDQ� PDV\DUDNDW� WHUKDGDS� VLVWHP�

NHXDQJDQ� 

0LVDOQ\D��GL�,QGRQHVLD��SHQLSXDQ�GLDWXU�GDODP�3DVDO�����

KLQJJD� 3DVDO� ���� .8+3�� VHPHQWDUD� SHQFXFLDQ� XDQJ� GLDWXU�

GDODP� 8QGDQJ�8QGDQJ� 1RPRU� �� 7DKXQ� ����� WHQWDQJ�

3HQFHJDKDQ� GDQ� 3HPEHUDQWDVDQ� 7LQGDN� 3LGDQD� 3HQFXFLDQ�

8DQJ�� 8QGDQJ�XQGDQJ� WHUVHEXW� PHPEHULNDQ� GHILQLVL� WLQGDN�

SLGDQD�SHQFXFLDQ�XDQJ��PHQHWDSNDQ�WLQGDNDQ�SHQFHJDKDQ��GDQ�

PHQJDWXU� WLQGDNDQ� SHQLQGDNDQ� VHUWD� VDQNVL� EDJL� SHODNX�

SHQFXFLDQ�XDQJ� 

'L� ,QGRQHVLD�� SHQLSXDQ�PHUXSDNDQ� WLQGDN�SLGDQD� \DQJ�

GLDWXU� GDODP� .LWDE� 8QGDQJ�8QGDQJ� +XNXP� 3LGDQD� �.8+3��

GDUL�3DVDO�����KLQJJD�3DVDO������3DVDO�SDVDO�WHUVHEXW�PHQMHODVNDQ�

EHUEDJDL� EHQWXN� SHQLSXDQ�� VHSHUWL� SHQLSXDQ� GHQJDQ�

PHQJJXQDNDQ� QDPD� SDOVX�� SHQJJHODSDQ�� DWDX� SHPDOVXDQ�

GRNXPHQ�� 7LQGDN� SLGDQD� SHQLSXDQ�PHUXJLNDQ� NRUEDQ� VHFDUD�

ILQDQVLDO� DWDX� PHOLEDWNDQ� PDQLSXODVL� LQIRUPDVL� XQWXN� WXMXDQ�

WHUWHQWX�� +XNXPDQ� EDJL� SHODNX� SHQLSXDQ� WHUPDVXN� SLGDQD�

SHQMDUD�VHVXDL�GHQJDQ�WLQJNDW�NHMDKDWDQ�\DQJ�GLODNXNDQ� 

.(-$+$7$1�
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$� $WXUDQ�0HQJHQDL�7LQGDN�3LGDQD�\DQJ�0HUXVDN�/LQJNXQJDQ 

7LQGDN�SLGDQD� OLQJNXQJDQ�KLGXS�PHUXSDNDQ� VDODK� VDWX�

ELGDQJ� KXNXP� \DQJ� PHQGDSDW� SHUKDWLDQ� NKXVXV� NDUHQD�

GDPSDNQ\D� \DQJ� VLJQLILNDQ� WHUKDGDS� HNRVLVWHP�� NHVHKDWDQ�

PDQXVLD�� GDQ� NHVHMDKWHUDDQ� PDV\DUDNDW� VHFDUD� NHVHOXUXKDQ��

5HJXODVL�PHQJHQDL�WLQGDN�SLGDQD�\DQJ�PHUXVDN�OLQJNXQJDQ�GL�

,QGRQHVLD� GLDWXU� GDODP� EHUEDJDL� SHUDWXUDQ� SHUXQGDQJ�

XQGDQJDQ�� WHUPDVXN� 8QGDQJ�8QGDQJ� 1RPRU� ��� 7DKXQ� �����

WHQWDQJ� 3HUOLQGXQJDQ� GDQ� 3HQJHORODDQ� /LQJNXQJDQ� +LGXS�

�8833/+��� 8QGDQJ�XQGDQJ� LQL� PHQJDWXU� EHUEDJDL� DVSHN�

SHUOLQGXQJDQ� OLQJNXQJDQ��PXODL�GDUL�SHQFHJDKDQ�SHQFHPDUDQ�

KLQJJD�SHQHJDNDQ�KXNXP�WHUKDGDS�SHODQJJDUDQ�OLQJNXQJDQ� 

7LQGDN�SLGDQD� OLQJNXQJDQ�KLGXS�PHUXSDNDQ� VDODK� VDWX�

ELGDQJ� KXNXP� \DQJ� PHQGDSDW� SHUKDWLDQ� NKXVXV� NDUHQD�

GDPSDNQ\D� \DQJ� VLJQLILNDQ� WHUKDGDS� HNRVLVWHP�� NHVHKDWDQ�

PDQXVLD�� GDQ� NHVHMDKWHUDDQ� PDV\DUDNDW� VHFDUD� NHVHOXUXKDQ��

5HJXODVL�PHQJHQDL�WLQGDN�SLGDQD�\DQJ�PHUXVDN�OLQJNXQJDQ�GL�

,QGRQHVLD� GLDWXU� GDODP� EHUEDJDL� SHUDWXUDQ� SHUXQGDQJ�

XQGDQJDQ�� WHUPDVXN� 8QGDQJ�8QGDQJ� 1RPRU� ��� 7DKXQ� �����

WHQWDQJ� 3HUOLQGXQJDQ� GDQ� 3HQJHORODDQ� /LQJNXQJDQ� +LGXS�

�8833/+��� 8QGDQJ�XQGDQJ� LQL� PHQJDWXU� EHUEDJDL� DVSHN�

SHUOLQGXQJDQ� OLQJNXQJDQ��PXODL�GDUL�SHQFHJDKDQ�SHQFHPDUDQ�

KLQJJD�SHQHJDNDQ�KXNXP�WHUKDGDS�SHODQJJDUDQ�OLQJNXQJDQ� 

8QGDQJ�8QGDQJ� 1RPRU� ��� 7DKXQ� ����� PHQHJDVNDQ�

EDKZD� VHWLDS� RUDQJ� \DQJ� PHODNXNDQ� NHJLDWDQ� \DQJ�

PHQJDNLEDWNDQ� SHQFHPDUDQ� GDQ�DWDX� NHUXVDNDQ� OLQJNXQJDQ�

3,'$1$�
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$� ,QRYDVL�GDQ�3HUXEDKDQ�GDODP�6LVWHP�3HPLGDQDDQ 

�� 5HIRUPDVL�6LVWHP�3HPLGDQDDQ��,QRYDVL�GDQ�3HUXEDKDQ 

5HIRUPDVL� VLVWHP�SHPLGDQDDQ�PHUXSDNDQ� VDODK� VDWX�

DVSHN�SHQWLQJ�GDODP�SHQJHPEDQJDQ�VLVWHP�KXNXP�PRGHUQ��

'DODP�EHEHUDSD�GHNDGH� WHUDNKLU�� EDQ\DN�QHJDUD�� WHUPDVXN�

,QGRQHVLD��WHODK�PHQJDGRSVL�EHUEDJDL�LQRYDVL�GDQ�SHUXEDKDQ�

XQWXN�PHQLQJNDWNDQ�HIHNWLYLWDV�GDQ�NHDGLODQ�GDODP�VLVWHP�

SHPLGDQDDQ�� 5HIRUPDVL� LQL� EHUWXMXDQ� XQWXN� PHQJDWDVL�

EHUEDJDL� PDVDODK� \DQJ� DGD� GDODP� VLVWHP� KXNXP� SLGDQD�

WUDGLVLRQDO�� VHSHUWL� RYHUSRSXODVL� SHQMDUD�� NHWLGDNDGLODQ�

GDODP� SHPLGDQDDQ�� GDQ� NXUDQJQ\D� UHKDELOLWDVL� EDJL�

QDUDSLGDQD� 

'DODP� EHEHUDSD� GHNDGH� WHUDNKLU�� EDQ\DN� QHJDUD��

WHUPDVXN�,QGRQHVLD��WHODK�PHQJDGRSVL�EHUEDJDL�LQRYDVL�GDQ�

SHUXEDKDQ� XQWXN� PHQLQJNDWNDQ� HIHNWLYLWDV� GDQ� NHDGLODQ�

GDODP� VLVWHP� SHPLGDQDDQ�� 5HIRUPDVL� LQL� EHUWXMXDQ� XQWXN�

PHQJDWDVL�EHUEDJDL�PDVDODK�\DQJ�DGD�GDODP�VLVWHP�KXNXP�

SLGDQD� WUDGLVLRQDO�� VHSHUWL� RYHUSRSXODVL� SHQMDUD��

NHWLGDNDGLODQ� GDODP� SHPLGDQDDQ�� GDQ� NXUDQJQ\D�

UHKDELOLWDVL�EDJL�QDUDSLGDQD� 

6DODK� VDWX� LQRYDVL� VLJQLILNDQ� GDODP� NHELMDNDQ�

SHPLGDQDDQ� DGDODK� SHQJHQDODQ� DOWHUQDWLI� KXNXPDQ� VHODLQ�

SHQMDUD��+XNXPDQ� EHUEDVLV� NRPXQLWDV�� VHSHUWL� NHUMD� VRVLDO��

GHQGD�� GDQ� SHPEDWDVDQ� NHEHEDVDQ� GHQJDQ� SHQJDZDVDQ��

PXODL�GLWHUDSNDQ�GL�EDQ\DN�QHJDUD��'L�,QGRQHVLD��NHELMDNDQ�

LQL� WHUFHUPLQ� GDODP� SHQHUDSDQ� SLGDQD� EHUV\DUDW� GDQ�

5()250$6,�
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$� 3HQJDWXUDQ�7HQWDQJ�3HQ\HUWDDQ�GDQ�3HUFREDDQ�GDODP�7LQGDN�

3LGDQD 

3HQ\HUWDDQ� GDQ� SHUFREDDQ� GDODP� WLQGDN� SLGDQD�

PHUXSDNDQ�NRQVHS�\DQJ�SHQWLQJ�GDODP�VLVWHP�KXNXP�SLGDQD�

\DQJ� PHQJDWXU� WHQWDQJ� EDJDLPDQD� KXNXP� PHQJKDGDSL�

LQGLYLGX� \DQJ� WHUOLEDW� GDODP� VXDWX� WLQGDN� NHMDKDWDQ�� EDLN�

VHEDJDL�SHODNX�XWDPD�PDXSXQ�SHODNX�WDPEDKDQ��3HQJDWXUDQ�LQL�

EHUNDLWDQ� HUDW� GHQJDQ� SULQVLS�SULQVLS� NHDGLODQ�� HILVLHQVL�� GDQ�

SHQHJDNDQ�KXNXP�\DQJ�EHUNHDGLODQ��0HQXUXW�'UHVVOHU� ��������

NRQVHS�SHQ\HUWDDQ�GDQ�SHUFREDDQ�GDODP�WLQGDN�SLGDQD�DGDODK�

GXD� DVSHN� SHQWLQJ� GDODP� VLVWHP� KXNXP� SLGDQD� \DQJ�

PHPHQJDUXKL�EDJDLPDQD� LQGLYLGX�GLSURVHV�GDQ�GLKXNXP�DWDV�

NHWHUOLEDWDQ�PHUHND�GDODP�VXDWX�NHMDKDWDQ� 

 

%� 3HQ\HUWDDQ�GDODP�7LQGDN�3LGDQD 

3HQ\HUWDDQ� GDODP� WLQGDN� SLGDQD� PHUXMXN� SDGD� SHUDQ�

VHVHRUDQJ�GDODP�PHODNXNDQ�VXDWX�NHMDKDWDQ�2UPHURG��'���������

7HUGDSDW� EHEHUDSD� EHQWXN� SHQ\HUWDDQ� GDODP� WLQGDN� SLGDQD��

WHUPDVXN�SHODNX�XWDPD��SHODNX�ODQJVXQJ��GDQ�SHODNX�WDPEDKDQ�

�SHODNX�WLGDN�ODQJVXQJ���3HODNX�XWDPD�DGDODK�RUDQJ�\DQJ�VHFDUD�

ODQJVXQJ� PHODNXNDQ� WLQGDNDQ� \DQJ� PHPEHQWXN� XQVXU�XQVXU�

NHMDKDWDQ�� VHGDQJNDQ� SHODNX� WDPEDKDQ� DGDODK� RUDQJ� \DQJ�

PHPEDQWX�� PHQGRURQJ�� DWDX� PHPEHULNDQ� GXNXQJDQ� NHSDGD�

SHODNX�XWDPD�GDODP�PHODNXNDQ�NHMDKDWDQ� 
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�� 'LUHNWRUDW� -HQGHUDO� 3HUDWXUDQ� 3HUXQGDQJ�XQGDQJDQ��

.HPHQWHULDQ�+XNXP�GDQ�+$0�5 

�� 3HUDWXUDQ�3HUXQGDQJ�8QGDQJDQ�,QGRQHVLD 

�� *RRGPDQ��0DUF��)XWXUH�&ULPHV��,QVLGH�WKH�'LJLWDO�8QGHUJURXQG�DQG�

WKH�%DWWOH�IRU�2XU�&RQQHFWHG�:RUOG��'RXEOHGD\������� 

�� /HY��'DQLHO�6��/HJDO�(YROXWLRQ�DQG�3ROLWLFDO�$XWKRULW\�LQ�,QGRQHVLD��

6HOHFWHG�(VVD\V��.OXZHU�/DZ�,QWHUQDWLRQDO������� 

�� /LQGVH\��7LP��,QGRQHVLD��/DZ�DQG�6RFLHW\��)HGHUDWLRQ�3UHVV������� 

�� 2
&RQQRU�� 7RP��'LJLWDO� (YLGHQFH� DQG� &RPSXWHU� &ULPH�� )RUHQVLF�

6FLHQFH��&RPSXWHUV��DQG�WKH�,QWHUQHW��(OVHYLHU������� 

�� 6FKMROEHUJ�� 6WHLQ�� DQG� 6RODQJH� *KHUQDRXWL�+HOLH�� $� *OREDO�

7UHDW\� RQ� &\EHUVHFXULW\� DQG� &\EHUFULPH�� $� *OREDO� 7UHDW\� RQ�

&\EHUVHFXULW\�DQG�&\EHUFULPH��&\EHUODZ�5HVHDUFK�,QVWLWXWH������� 

�� 7RPVD��'LUN��DQG�$QGUHDV�8IHQ��HGV��3DUW\�3ROLWLFV�LQ�6RXWKHDVW�

$VLD�� &OLHQWHOLVP� DQG� (OHFWRUDO� &RPSHWLWLRQ� LQ� ,QGRQHVLD�� 7KDLODQG�

DQG�WKH�3KLOLSSLQHV��5RXWOHGJH������� 

�� %DFNHU��/DUU\�&DWi��&RPSDUDWLYH�3HUVSHFWLYHV�RQ�/DZ�DQG�-XVWLFH�LQ�

*OREDO�(FRQRP\��&DPEULGJH�8QLYHUVLW\�3UHVV������� 

��� 6FKRO]��-RKQ�7���DQG�0DUN�/XEHOO��$GDSWLYH�*RYHUQDQFH�DQG�:DWHU�

&RQIOLFW��1HZ�,QVWLWXWLRQV�IRU�&ROODERUDWLYH�3ODQQLQJ��5HVRXUFHV�IRU�

WKH�)XWXUH������� 

��� *RRGPDQ��0DUF��)XWXUH�&ULPHV��,QVLGH�WKH�'LJLWDO�8QGHUJURXQG�

DQG�WKH�%DWWOH�IRU�2XU�&RQQHFWHG�:RUOG��'RXEOHGD\������� 

��� 6RHVLOR�� 6RHVLOR�� �������� �3HQ\XVXQDQ� .LWDE� 8QGDQJ�8QGDQJ�

+XNXP� 3LGDQD� %HUEDVLV� 3DQFDVLOD� �6WXGL� .DVXV� 'DODP�

3HUVSHNWLI� .RQVHSVL� 1HJDUD� +XNXP���� -XUQDO� .ULPLQRORJL�

,QGRQHVLD����������������� 

��� +DP]DK��$QGL�����������1RUPD�$GDW�GDQ�+DUPRQLVDVL�+XNXP�

1DVLRQDO���-XUQDO�'LQDPLND�+XNXP����������������� 

��� +DUDKDS��)DFKUL�����������3DQFDVLOD�VHEDJDL�6XPEHU�1LODL�+XNXP�

GDODP�3HQ\XVXQDQ�3URGXN�+XNXP���-XUQDO�,OPX�+XNXP��������

�������� 



��� 

 

��� 'LUHNWRUDW� -HQGHUDO� 3HUDWXUDQ� 3HUXQGDQJ�XQGDQJDQ��

.HPHQWHULDQ� +XNXP� GDQ� +$0� 5,��

KWWS���GLWMHQSS�NHPHQNXPKDP�JR�LG 

��� 'UHVVOHU�� -�� �������� 8QGHUVWDQGLQJ� &ULPLQDO� /DZ� ��WK� HG����

/H[LV1H[LV� 

��� 3HUDWXUDQ� 3HUXQGDQJ�8QGDQJDQ� ,QGRQHVLD��

KWWSV���SHUDWXUDQ�ESN�JR�LG 

��� 8QLWHG� 1DWLRQV� 'HYHORSPHQW� 3URJUDPPH� �81'3��� ��������

6XVWDLQDEOH� 'HYHORSPHQW� *RDOV��

KWWSV���ZZZ�XQGS�RUJ�FRQWHQW�XQGS�HQ�KRPH�VXVWDLQDEOH�

GHYHORSPHQW�JRDOV�KWPO 

��� .RQYHQVL� +DN� $QDN� �&5&��� KWWSV���ZZZ�XQLFHI�RUJ�FKLOG�

ULJKWV�FRQYHQWLRQ 

��� 8QLWHG� 1DWLRQV� )UDPHZRUN� &RQYHQWLRQ� RQ� &OLPDWH� &KDQJH�

�81)&&&���KWWSV���XQIFFF�LQW 

��� %D]HPRUH��*���	�8PEUHLW��0��6���(GV������������5HVWRUDWLYH�MXVWLFH��

,QWHUQDWLRQDO�SHUVSHFWLYHV��:LOODQ� 

��� -RKQVWRQH��*�� ��������5HVWRUDWLYH� MXVWLFH��,GHDV��YDOXHV��GHEDWHV��

:LOODQ� 

��� 9DQ�1HVV��'��:���	�6WURQJ��.��+�� ��������5HVWRULQJ� MXVWLFH��$Q�

LQWURGXFWLRQ�WR�UHVWRUDWLYH�MXVWLFH��5RXWOHGJH� 

��� 8PEUHLW�� 0�� 6��� 	� *UHHQZRRG�� -�� �������� 5HVWRUDWLYH� MXVWLFH�

GLDORJXH��$Q�HVVHQWLDO�JXLGH�IRU�UHVHDUFK�DQG�SUDFWLFH��6SULQJHU� 

��� /H[LV1H[LV�$XVWUDOLD����������6HQWHQFLQJ��3ULQFLSOHV�DQG�3UDFWLFH��

/H[LV1H[LV� 

��� 0F6KHUU\�� %��� 	� .H\]HU�� 3�� �(GV���� �������� 7KH� ,QWHUQDWLRQDO�

+DQGERRN� RI� 3XEOLF�$GPLQLVWUDWLRQ� DQG�*RYHUQDQFH��(GZDUG�

(OJDU�3XEOLVKLQJ� 

��� 7RQU\��0���(G������������&ULPH�DQG�-XVWLFH��9ROXPH�����&ULPH�DQG�

-XVWLFH�LQ�$PHULFD������²������8QLYHUVLW\�RI�&KLFDJR�3UHVV� 

��� .DSLV]HZVNL��'���	�6KLSDQ��&��5���(GV������������7KH�,QVWLWXWLRQDO�

/RJLFV�3HUVSHFWLYH��$�1HZ�$SSURDFK�WR�&XOWXUH��6WUXFWXUH�DQG�

3URFHVV��2[IRUG�8QLYHUVLW\�3UHVV� 

��� 0RUDQ��0�� +�� �������� *RYHUQLQJ� WKH� 3ROLFH�� ([SHULHQFH� LQ� 6L[�

'HPRFUDFLHV��%URRNLQJV�,QVWLWXWLRQ�3UHVV� 



��� 

 

��� %UDLWKZDLWH�� -�� �������� 5HVWRUDWLYH� -XVWLFH� 	� 5HVSRQVLYH�

5HJXODWLRQ��2[IRUG�8QLYHUVLW\�3UHVV 

��� /HY��'DQLHO�6���&RORQLDO�/DZ�DQG�WKH�*HQHVLV�RI�WKH�,QGRQHVLDQ�

6WDWH���,QGRQHVLD��QR������������������� 

��� -HQNLQV��'DYLG���6XKDUWR�DQG�+LV�*HQHUDOV��,QGRQHVLDQ�0LOLWDU\�

3ROLWLFV�������������&RUQHOO�8QLYHUVLW\�3UHVV������� 

��� /LQGVH\�� 7LPRWK\�� �,QGRQHVLD�� /DZ� DQG� 6RFLHW\��� )HGHUDWLRQ�

3UHVV������� 

��� &URXFK��+DUROG���7KH�$UP\�DQG�3ROLWLFV�LQ�,QGRQHVLD���&RUQHOO�

8QLYHUVLW\�3UHVV������� 

��� 5LFNOHIV�� 0�&�� �$� +LVWRU\� RI� 0RGHUQ� ,QGRQHVLD� VLQFH� F��������

6WDQIRUG�8QLYHUVLW\�3UHVV������� 

��� %RXUFKLHU�� 'DYLG�� DQG� 9HGL� +DGL]�� �,QGRQHVLDQ� 3ROLWLFV� DQG�

6RFLHW\��$�5HDGHU���5RXWOHGJH������� 

��� $QZDU��'HZL�)RUWXQD���,QGRQHVLD�LQ�$6($1��)RUHLJQ�3ROLF\�DQG�

5HJLRQDOLVP���,QVWLWXWH�RI�6RXWKHDVW�$VLDQ�6WXGLHV������� 

��� 6XKHQGDU��5LGZDQ�� �7LQGDN�3LGDQD�(NRQRPL�GDODP�3HUVSHNWLI�

+XNXP�3LGDQD�,QGRQHVLD���3XVWDND�3HODMDU������� 

��� 6XGDU\RQR�� $JXV�� �3HQDQJJXODQJDQ� 1DUNRWLND� GL� ,QGRQHVLD���

*KDOLD�,QGRQHVLD������� 

��� %XWW�� 6LPRQ�� �&RUUXSWLRQ� DQG� /DZ� LQ� ,QGRQHVLD��� 5RXWOHGJH��

����� 

��� 6XNPD��5L]DO���&RXQWHU�WHUURULVP�LQ�,QGRQHVLD���&6,6������� 

��� $OL��$FKPDG���+XNXP�$FDUD�3LGDQD��3URVHV�3HQHJDNDQ�+XNXP�

3LGDQD���6LQDU�*UDILND������� 

��� 6LUHJDU�� 7LXUPD�� �+DN� $VDVL� 0DQXVLD� GDODP� 6LVWHP� +XNXP�

,QGRQHVLD���*KDOLD�,QGRQHVLD������� 

��� :LGRGR��:DK\X�� �.HMDKWDQ�7UDQVQDVLRQDO� GDQ� 3HQJDWXUDQQ\D�

GDODP�+XNXP�3LGDQD�,QGRQHVLD���3XVWDND�3HODMDU������� 

��� .XQWMDUD��(����������3RNRN�3RNRN�+XNXP�3LGDQD��3XVWDND�6LQDU�

+DUDSDQ� 

��� 5RRV��6����������5HKDELOLWDWLRQ��&ULPH�DQG�-XVWLFH��5RXWOHGJH� 

��� $VKZRUWK�� $��� 	� +RXJK�� 0�� �������� 'RHV� WKH� FULPLQDO� MXVWLFH�

V\VWHP�KDYH�D�PRUDO�REOLJDWLRQ�WR�HQFRXUDJH�RIIHQGHUV�WR�UHSHQW�

DQG�UHIRUP"�7KH�+RZDUG�-RXUQDO�RI�&ULPH�DQG�-XVWLFH�����������

��� 



��� 

 

��� 0DUGMRQR�5HNVRGLSXWUR��'DVDU�'DVDU�+XNXP�3LGDQD�,QGRQHVLD�

�%DQGXQJ��$OXPQL�������� 

��� $QGL� +DP]DK�� 0DVDODK�0DVDODK� +XNXP� 3LGDQD� �-DNDUWD��

3UDGQ\D�3DUDPLWD������� 

��� %HUVRKQ��/���	�(OZRUN��$����������7KH�'HWHUUHQW�(IIHFW�RI�&DSLWDO�

3XQLVKPHQW�� (YLGHQFH� IURP� D� ´-XGLFLDO� ([SHULPHQWµ��

3V\FKRORJLFDO� 6FLHQFH�� �������� ���²�����

KWWSV���GRL�RUJ���������M����������������������[ 

��� 8QGDQJ�8QGDQJ� 5HSXEOLN� ,QGRQHVLD� 1RPRU� ��� 7DKXQ� �����

WHQWDQJ�3HPEHUDQWDVDQ�7LQGDN�3LGDQD�.RUXSVL� 

��� 8QGDQJ�8QGDQJ�1RPRU���7DKXQ������WHQWDQJ�3HUXEDKDQ�$WDV�

8QGDQJ�8QGDQJ�1RPRU����7DKXQ������7HQWDQJ�3HPEHUDQWDVDQ�

7LQGDN�3LGDQD�7HURULVPH� 

��� 8QGDQJ�8QGDQJ�1RPRU����7DKXQ������WHQWDQJ�,QIRUPDVL�GDQ�

7UDQVDNVL�(OHNWURQLN��88�,7(����,QGRQHVLD� 

��� &\EHUVHFXULW\� DQG� ,QIUDVWUXFWXUH� 6HFXULW\� $JHQF\� �&,6$�� ��

8QLWHG�6WDWHV� 

��� 8QGDQJ�8QGDQJ�1RPRU���7DKXQ������WHQWDQJ�3HQFHJDKDQ�GDQ�

3HPEHUDQWDVDQ�7LQGDN�3LGDQD�3HQFXFLDQ�8DQJ� 

��� 8QLWHG�1DWLRQV�2IILFH� RQ�'UXJV� DQG�&ULPH� �812'&��� ��������

8QLWHG� 1DWLRQV� &RQYHQWLRQ� DJDLQVW� &RUUXSWLRQ� �81&$&���

5HWULHYHG� IURP�

KWWSV���ZZZ�XQRGF�RUJ�XQRGF�HQ�WUHDWLHV�&$&�LQGH[�KWPO 

��� 5DKDUGMR�� 6�� �������� 0HQJDSD� .8+3� %HOXP� 'LVDKNDQ"�

KWWSV���ZZZ�KXNXPRQOLQH�FRP�EHULWD�EDFD�OW�D��I����H�I��

PHQJDSD�NXKS�EHOXP�GLVDKNDQ� 

��� +XNXP� 2QOLQH�� �������� 5.8+3� 'LVDKNDQ� 0HQMDGL� 88� &LSWD�

.DU\D��

KWWSV���ZZZ�KXNXPRQOLQH�FRP�EHULWD�EDFD�OW�G��F�����D��

�UNXKS�GLVDKNDQ�PHQMDGL�XX�FLSWD�NDU\D� 

��� 8QGDQJ�8QGDQJ�1RPRU� ���7DKXQ� ����� WHQWDQJ� 3HUOLQGXQJDQ�

GDQ�3HQJHORODDQ�/LQJNXQJDQ�+LGXS� 

��� 3HUDWXUDQ� 3HPHULQWDK� 1RPRU� ���� 7DKXQ� ����� WHQWDQJ�

3HQJHORODDQ�/LPEDK�%DKDQ�%HUEDKD\D�GDQ�%HUDFXQ� 

��� 8QGDQJ�8QGDQJ�1RPRU����7DKXQ������WHQWDQJ�.HKXWDQDQ� 



��� 

 

��� 8QGDQJ�8QGDQJ� 1RPRU� ��� 7DKXQ� ����� WHQWDQJ� 6LVWHP�

3HUDGLODQ�3LGDQD�$QDN� 

��� .HPHQWHULDQ�+XNXP�GDQ�+DN�$VDVL�0DQXVLD����������3URJUDP�

5HKDELOLWDVL�GDQ�3HPELQDDQ�1DUDSLGDQD� 

��� 8QLWHG�1DWLRQV�2IILFH� RQ�'UXJV� DQG�&ULPH� �812'&��� ��������

5HVWRUDWLYH�-XVWLFH��3ULQFLSOHV�DQG�3UDFWLFHV� 

��� 3HPHULQWDK� ,QGRQHVLD�� �������� 8QGDQJ�8QGDQJ� 1RPRU� ���

7DKXQ������WHQWDQJ�3HUOLQGXQJDQ�GDQ�3HQJHORODDQ�/LQJNXQJDQ�

+LGXS� 

��� (OHFWURQLF� 0RQLWRULQJ� DQG� 3UREDWLRQ��� &RXQFLO� RI� (XURSH��

7HUVHGLD�GL��&RXQFLO�RI�(XURSH� 

��� =HKU�� +�� �������� 7KH� /LWWOH� %RRN� RI� 5HVWRUDWLYH� -XVWLFH�� *RRG�

%RRNV� 

��� /DWLPHU��-���'RZGHQ��&���	�0XLVH��'�����������7KH�(IIHFWLYHQHVV�

RI� 5HVWRUDWLYH� -XVWLFH� 3UDFWLFHV�� $�0HWD�$QDO\VLV��� 7KH� 3ULVRQ�

-RXUQDO����������������� 

��� 8PEUHLW��0��6���&RDWHV��5��%���	�9RV��%�����������9LFWLP�2IIHQGHU�

0HGLDWLRQ�� 7KUHH� 'HFDGHV� RI� 3UDFWLFH� DQG� 5HVHDUFK��� &RQIOLFW�

5HVROXWLRQ�4XDUWHUO\������������������� 

��� 5HVWRUDWLYH� -XVWLFH� LQ� 1HZ� =HDODQG�� %HVW� 3UDFWLFH� LQ� 1HZ�

=HDODQG���0LQLVWU\� RI� -XVWLFH��1HZ�=HDODQG�� 7HUVHGLD�GL��1HZ�

=HDODQG�0LQLVWU\�RI�-XVWLFH� 

��� ��5HVWRUDWLYH� -XVWLFH� 3URJUDPV��� 1DWLRQDO� ,QVWLWXWH� RI� -XVWLFH��

86$��7HUVHGLD�GL��1,-� 

��� .HPHQWHULDQ� +XNXP� GDQ� +DN� $VDVL� 0DQXVLD� 5HSXEOLN�

,QGRQHVLD���Q�G����3URJUDP�3HPELQDDQ�1DUDSLGDQD��'LDNVHV�GDUL�

.HPHQNXPKDP�JR�LG 

��� ����:DOPVOH\�� 5�� �������� :RUOG� 3ULVRQ� 3RSXODWLRQ� /LVW� ���WK�

HGLWLRQ���,QVWLWXWH�IRU�&ULPH�	�-XVWLFH�3ROLF\�5HVHDUFK� 

��� &XOOHQ�� )�� 7���	�*LOEHUW��.�� (�� ��������5HDIILUPLQJ�5HKDELOLWDWLRQ��

$QGHUVRQ�3XEOLVKLQJ� 

��� 7RQU\��0����������&ULPH�DQG�-XVWLFH��$�5HYLHZ�RI�5HVHDUFK��9ROXPH�

����8QLYHUVLW\�RI�&KLFDJR�3UHVV� 

��� 6HULQ��5�����������5HKDELOLWDWLRQ�LQ�WKH�(UD�RI�0DVV�,QFDUFHUDWLRQ��

5HIUDPLQJ�WKH�5ROH�RI�WKH�&RPPXQLW\�LQ�WKH�&DQDGLDQ�&RQWH[W���



��� 

 

-RXUQDO� RI� 2IIHQGHU� 5HKDELOLWDWLRQ�� ������� ���������

GRL����������������������������� 

��� 8QGDQJ�8QGDQJ� 1RPRU� ��� 7DKXQ� ����� WHQWDQJ� 6LVWHP�

3HUDGLODQ�3LGDQD�$QDN� 

��� .HPHQWHULDQ�+XNXP�GDQ�+DN�$VDVL�0DQXVLD����������3URJUDP�

5HKDELOLWDVL�GDQ�3HPELQDDQ�1DUDSLGDQD� 

��� 3HPHULQWDK� ,QGRQHVLD�� �������� 8QGDQJ�8QGDQJ� 1RPRU� ���

7DKXQ������WHQWDQJ�3HUOLQGXQJDQ�GDQ�3HQJHORODDQ�/LQJNXQJDQ�

+LGXS 
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�0RKDPDG� $QZDU�� 6�+��� 0�+��� &/$���

&0HG�� &7$�� &/,���PHUXSDNDQ�OXOXVDQ�6��

�� )DNXOWDV�+XNXP�GDUL� )DNXOWDV�+XNXP�

8QLYHUVLWDV� ,VODP� 6\HFK� <XVXI�� ���

3URJUDP� 0DJLVWHU� ,OPX� +XNXP� GDUL�

3DVFDVDUMDQD� 8QLYHUVLWDV� 3DPXODQJ��

0HPXODL� NDULU� VHEDJDL� $GYRNDW� SDGD�

7DKXQ� ����� GHQJDQ� EHUJDEXQJ� SDGD�

.DQWRU�+XNXP�680$5',�	�3$571(5��

.HPXGLDQ� SDGD� WDKXQ� ����� PHQGLULNDQ�

.DQWRU� +XNXP� 0RKDPDG� $QZDU� 	� $VVRFLDWHV� GL� -DNDUWD��

6HODQMXWQ\D� SDGD� WDKXQ� ����� PHQGLULNDQ� /$:� ),50� 5,&.
6� 	�

3$1'$:$� GL� .RWD� 7DQJHUDQJ�� 6HWHODK� EHUKDVLO� PHQGLULNDQ�

EHEHUDSD� .DQWRU� +XNXP� WHUVHEXW� SDGD� WDKXQ� ����� PHQGLULNDQ�

.DQWRU� +XNXP� 6</9,$� $1:$5�	� 5(.$1� GL� &LELQRQJ� %RJRU�

VDPSDL� NHPXGLDQ� PHQGLULNDQ� /HPEDJD� %DQWXDQ� +XNXP� �/%+��

%DQWHQ�� <./%+� '$))$� ,1'21(6,$�� VHUWD� VDDW� LQL� PHQGDSDW�

DPDQDK� VHEDJDL� .HWXD� '3'� .RQJUHV� $GYRNDW� ,QGRQHVLD� 3URY��

%DQWHQ�� 6HODLQ� PHQHPSXK� SHQGLGLNDQ� IRUPDO� SHQXOLV� MXJD� WHODK�

PHQJLNXWL� SHQGLGLNDQ� SURIHVL� \DNQL� 6HUWLILNDVL� .RPSHWHQVL� $KOL�

3HPEDQJXQDQ� ,QWHJULWDV�� 6HUUWLILNDVL� .RPSHWHQVL� 3HQ\XOXK� $QWL�

.RUXSVL�3UDWDPD��3HODWLKDQ�GDQ�6HUWLILNDVL�0HGLDWRU��6HUWLILNDVL�7D[�

%UHYHW� $�%�� 6HUWLILNDVL� 3URIHVL� /LTXLGDWRU� ,QGRQHVLD�� 3URIHVL�

VHEDJDL�� $GYRNDW� 	� .RQVXOWDQ� +XNXP�� 0HGLDWRU� 1RQ�+DNLP�

3HQJDGLODQ�1HJHUL�7DQJHUDQJ��/LTXLGDWRU��.XUDWRU�GDQ�3HQJXUXV��

.XDOLILNDVL� 	� 6SHVLDOLVDVL� 3URIHVL� $GYRNDW� \DLWX� SDGD� ELGDQJ��

/LWLJDVL�GDODP�3HUNDUD�3LGDQD��3HUGDWD�8PXP��3HUGDWD�.HOXDUJD��

3781��+XNXP�.HWHQDJDNHUMDDQ��+XNXP�3HUXVDKDDQ��3HUEDQNDQ��

.RQVXOWDQ� 3DMDN�� /LNXLGDWRU� GDQ� .XUDWRU�� 6HODLQ� LWX�� PHUXSDNDQ�

VHRUDQJ� 7HQDJD� 3HQJDMDU�'RVHQ� GLVDODK� VDWX� 3HUJXUXDQ� 7LQJJL�

6ZDVWD�GL�8QLYHUVLWDV�3DPXODQJ��)RNXVQ\D�VDDW�LQL�\DLWX�NRQVLVWHQ�

GDQ� NRPLWPHQ� \DQJ� WLQJJL� GDODP� PHQMDODQL� NDULU� VHEDJDL�

3URIHVLRQDO� 3UDNWLVL� +XNXP�� 6HEDJDL� $GYRNDW� 6HQLRU�� EHOLDX�

PHUHNRPHQGDVLNDQ� EHEHUDSD� NHDKOLDQ� SHQWLQJ� \DQJ�ZDMLE� XQWXN�



��� 

 

GLNXDVDL� ROHK� UHNDQ�UHNDQ� $GYRNDW�� GLDQWDUDQ\D�� /LWLJDVL� 6LSLO��

/LWLJDVL�.RPHUVLDO��3HQJDFDUD�.HOXDUJD��1DVHKDW�+XNXP��%DQWXDQ�

KXNXP��3HQHOLWLDQ�+XNXP��/LWLJDVL��GDQ�1RQ�/LWLJDVL� 
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